#07 SA: Hyperbola
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v Which of the following is the length of the transverse axis of * 1/1
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v Which of the following is the eccentricity of the hyperbola *
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v Which of the following are the coordinates of the foci of the 2/2
hyperbola *

4x* — 9y* = 36?
34/13
£——.0 (£4/13,0)
(O option 1 (® Option 2 N4
34/5
iﬂgﬂ iig[}
V3 2
O Option 3 O Option 4

This form was created inside of Sanskriti School.

Google Forms


https://www.google.com/forms/about/?utm_source=product&utm_medium=forms_logo&utm_campaign=forms

